THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid Committee Bid Tab

City Clerk

# Bid UPP-0001 Ended At Mar 12, 2025 10:00:00 AM CDT CONSTRUCTION/CITY - Parks Improvements

Company:	Rudy Construction Co.	Downey Contracting, L.L.C.	
Base Bid	\$5,567,110.50	\$15,357,117.20	
TOTAL BID:	\$5,567,110.50	\$15,357,117.20	

Tresha Williams	Hannah Adams	Tim Alvarez
City Clerk	Purchasing Agency	Auditor

#### Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

**THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS.** The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

#### Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

#### Bid #UPP-0001 - Parks Improvements

Start Date Feb 12, 2025 7:49:40 AM CST Awarded Date Not Yet Awarded

UPP-0001–01-01 Base Bid: Bollard - 36 Inch Collapsible (Lockable)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$1,500.00	10 / each	\$15,000.00		Y		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$1,500.00	10 / each	\$15,000.00	Υ	Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-02 Base Bid: Bollard - 42 Inc Removable Steel							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$1,200.00	10 / each	\$12,000.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$2,000.00	10 / each	\$20,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-03 Base Bid: Bollard - 42 Inch Steel (Embedment)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$900.00	10 / each	\$9,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$1,500.00	10 / each	\$15,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-04 Base Bid: Bollard - 42 Inch Steel (Surface Mount)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$750.00	10 / each	\$7,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$1,500.00	10 / each	\$15,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-05 Base Bid: Lumber - 2x4 Inch Board							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$9.00	100 / linear foot	\$900.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPP-0001–01-06 Base Bid: Lumber - 2x4 Inch Board (Pressure Treated)					

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Downey Contracting, L.L.C.	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Rudy Construction Co.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPP-0001–01-07 Base Bid: Lumber - 2x6 Inch Board							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ		
		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$20.00	100 / linear foot	\$2,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

UPP-0001–01-08 Base Bid: Lumber - 2x6 Inch Board (Pressure Treated)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y		
		Supplier Product Code: Supplier Notes:					
Rudy Construction Co.	First Offer - \$20.00	100 / linear foot	\$2,000.00		Y		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					

UPP-0001–01-09 Base Bid: Lumber - 2x8 Inch Board							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPP-0001–01-10 Base Bid: Lumber - 2x8 Inch Board (Pressure Treated)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$19.00	100 / linear foot	\$1,900.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-11 Base Bid: Lumber - 2x10 Inch Board										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$21.00	100 / linear foot	\$2,100.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-12 Base Bid: Lumber - 2x10 Inch Board (Pressure Treated)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-13 Base Bid: Lumber - 2x12 Inch Board										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$40.00	100 / linear foot	\$4,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-14 Base Bid: Lumber - 2x12 Inch Board (Pressure Treated)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$40.00	100 / linear foot	\$4,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-15 Base Bid: Lumber - Trex square yard Decking (including hidden fastener square yard stem)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$35.00	100 / square foot	\$3,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$60.00	100 / square foot	\$6,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-16 Base Bid: Lumber - Fasteners (Zinc Coated)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$10.00	5 / pound	\$50.00		Υ					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$100.00	5 / pound	\$500.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-17 Base Bid: Lumber - Composite Decking Surfacing (ADD COMPONENTS')									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$35.00	100 / square foot	\$3,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$60.00	100 / square foot	\$6,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-18 Base Bid: Court - Basketball Surfacing (Full Court Color)										
Supplier	Unit Price	e Qty/Unit Total Price Attch.								
Downey Contracting, L.L.C.	First Offer - \$17,000.00	2 / each	\$34,000.00		Υ					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$18,000.00	2 / each	\$36,000.00		Υ					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-19 Base Bid: Court - Basketball Surfacing (Lines Only per Court)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$1,900.00	2 / each	\$3,800.00		Y					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$6,000.00	2 / each	\$12,000.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-20 Base Bid: Court - Post Tension Basketball										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$65,000.00	2 / each	\$130,000.00		Υ					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$205,000.00	2 / each	\$410,000.00		Υ					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-21 Base Bid: Demolition - Concrete Pavement Removal										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.		First Offer - \$15.00	300 / square yard	\$4,500.00		Y				
Product Code:		Supplier Product Code:								
Agency Notes:			Supplier Notes:							
Rudy Construction Co.		First Offer - \$25.00	300 / square yard	\$7,500.00		Y				
Product Code:			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

UPP-0001–01-22 Base Bid: Demolition - Utility Service								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-23 Base Bid: Demolition - Existing Light Poles								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$1,200.00	5 / each	\$6,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$1,500.00	5 / each	\$7,500.00		Y			
Product Code:		Supplier Product Cod	e:					

Agency Notes: Supplier Notes:

UPP-0001–01-24 Base Bid: Demolition - Remove And Relocate Sign									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$350.00	5 / each	\$1,750.00		Υ				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$500.00	5 / each	\$2,500.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-25 Base Bid: Demolition - Remove And Reset Fence									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$55.00	100 / linear foot	\$5,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-26 Base Bid: Demolition - Remove Curb And Gutter									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.00	2000 / linear foot	\$20,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$11.00	2000 / linear foot	\$22,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-27 Base Bid: Demolition - Remove Driveway									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$15.00	200 / square yard	\$3,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$25.00	200 / square yard	\$5,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-28 Base Bid: Demolition - Remove Existing Fence									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.00	250 / linear foot	\$2,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$12.00	250 / linear foot	\$3,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-29 Base Bid: Demolition - Remove Sidewalk								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3.00	2000 / square foot	\$6,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$12.00	2000 / square foot	\$24,000.00		Y			

Product Code: Supplier Product Code: Agency Notes: Supplier Notes:

UPP-0001–01-30 Base Bid: Demolition - Tree Removal (Over 12 Inches Caliper)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,000.00	10 / each	\$10,000.00		Υ				
Product Code: Supplier Product Code:			e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,900.00	10 / each	\$19,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-31 Base Bid: Demolition - Tree Removal (Over 6 Inches To 12 Inches Caliper)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$700.00	15 / each	\$10,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$1,100.00	15 / each	\$16,500.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-32 Base Bid: Demolition - Tree Removal (Up To 6 Inches Caliper)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$125.00	20 / each	\$2,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$500.00	20 / each	\$10,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-33 Base Bid: Drainage - (HDPE) Prefab End Section (12 Inches)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$750.00	4 / each	\$3,000.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$850.00	4 / each	\$3,400.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-34 Base Bid: Drainage - (HDPE) Prefab End Section (18 Inches)									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
Rudy Construction Co.	First Offer - \$1,000.00	4 / each	\$4,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,250.00	4 / each	\$5,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-35 Base Bid: Drainage - (HDPE) Prefab End Section (24 Inches)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,250.00	4 / each	\$5,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

Downey Contracting, L.L.C.	First Offer - \$1,500.00	4 / each	\$6,000.00		Y	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPP-0001–01-36 Base Bid: Drainage - (HDPE) Storm Pipe (12 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$60.00	100 / linear foot	\$6,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-37 Base Bid: Drainage - (HDPE) Storm Pipe (18 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$70.00	100 / linear foot	\$7,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$85.00	100 / linear foot	\$8,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-38 Base Bid: Drainage - (HDPE) Storm Pipe (24 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$80.00	100 / linear foot	\$8,000.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$115.00	100 / linear foot	\$11,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-39 Base Bid: Drainage - Adjust Existing Structure (2-0 Inlet Repair)									
Supplier	Unit Price	e Qty/Unit Total Price Attch.							
Rudy Construction Co.	First Offer - \$1,000.00	20 / each	\$20,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,200.00	20 / each	\$44,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-40 Base Bid: Drainage - Adjust Existing Structure (2-1 Inlet Repair)									
Supplier	Unit Price	te Qty/Unit Total Price Attch.							
Rudy Construction Co.	First Offer - \$1,250.00	10 / each	\$12,500.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,500.00	10 / each	\$25,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-41 Base Bid: Drainage - Adjust Existing Structure (2-2 Inlet Repair)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,250.00	10 / each	\$12,500.00		Y			
Product Code:		Supplier Product Cod	e:					

Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$2,700.00	10 / each	\$27,000.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

UPP-0001–01-42 Base Bid: Drainage - Adjust Existing Structure (2-3 Inlet Repair)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,500.00	10 / each	\$15,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$3,100.00	10 / each	\$31,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-43 Base Bid: Drainage - Design 2-0 Inlet Complete In Place									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3,000.00	20 / each	\$60,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5,500.00	20 / each	\$110,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-44 Base Bid: Drainage - Design 2-1 Inlet Complete In Place							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$4,000.00	10 / each	\$40,000.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$8,500.00	10 / each	\$85,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-45 Base Bid: Drainage - Design 2-2 Inlet Complete In Place							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$5,000.00	10 / each	\$50,000.00		Υ		
Product Code:		<b>Supplier Product Cod</b>	e:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$11,000.00	10 / each	\$110,000.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-46 Base Bid: Drainage - Design 2-3 Inlet Complete In Place								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$6,000.00	10 / each	\$60,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$14,500.00	10 / each	\$145,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:					

UPP-0001–01-47 Base Bid: Drainage - Perforated Pipe Underdrain (6 Inches)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y	

Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$50.00	100 / linear foot	\$5,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

UPP-0001–01-48 Base Bid: Drainage - (RCP) Storm Pipe (18 Inches)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$95.00	100 / linear foot	\$9,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-49 Base Bid: Drainage - (RCP) Storm Pipe (24 Inches)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$150.00	100 / linear foot	\$15,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPP-0001–01-50 Base Bid: Drainage - Storm Sewer Cast Frame Replacement								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$400.00	20 / each	\$8,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$905.00	20 / each	\$18,100.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-51 Base Bid: Drainage - Storm Sewer Cast Grate Replacement							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$400.00	20 / each	\$8,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$2,700.00	20 / each	\$54,000.00		Υ		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-52 Base Bid: Drainage - Storm Sewer Cast Hood Replacement							
Supplier	Unit Price	e Qty/Unit Total Price Attch. D					
Rudy Construction Co.	First Offer - \$400.00	10 / each	\$4,000.00		Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$2,100.00	10 / each	\$21,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-53 Base Bid: Drainage - Structure Removal (All Storm Sewer Inlets)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

Downey Contracting, L.L.C.	First Offer - \$1,922.00	20 / each	\$38,440.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Rudy Construction Co.	First Offer - \$2,000.00	20 / each	\$40,000.00	Y	
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPP-0001–01-54 Base Bid: Drainage - Washed Stone									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$92.00	5 / cubic yard	\$460.00		Y				
Product Code:		Supplier Product Code	<b>:</b> :						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$150.00	5 / cubic yard	\$750.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-55 Base Bid: Electrical - Pull Box Adjustment									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$480.00	2 / each	\$960.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$1,200.00	2 / each	\$2,400.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-56 Base Bid: Electrical - Pull Box Type I									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,500.00	2 / each	\$3,000.00		Y				
Product Code:		<b>Supplier Product Cod</b>	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,250.00	2 / each	\$4,500.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-57 Base Bid: Electrical - Pull Box Type II									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$3,500.00	2 / each	\$7,000.00		Y				
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	e:						

UPP-0001–01-58 Base Bid: Equipment - Basketball Goal									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$5,200.00	4 / each	\$20,800.00		Υ				
Product Code:		<b>Supplier Product Cod</b>	e:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$5,500.00	4 / each	\$22,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-59 Base Bid: Equipment - Outdoor Fitness								

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$10,000.00	5 / each	\$50,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$155,000.00	5 / each	\$775,000.00		Υ
Product Code:		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

UPP-0001–01-60 Base Bid: Fencing - 4 foot Galvanized Chain Link Fence Gate Installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$550.00	4 / each	\$2,200.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$750.00	4 / each	\$3,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-61 Base Bid: Fencing - 4 foot Galvanized Chain Link Fence Installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-62 Base Bid: Fencing - 4 foot Black PVC Vinyl Coated Chain Link Fence Gate Installed (9 Guag									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$850.00	4 / each	\$3,400.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,500.00	4 / each	\$6,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-63 Base Bid: Fencing - 4 foot Black PVC Vinyl Coated Chain Link Fence Installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-64 Base Bid: Fencing - 6 foot Galvanized Chain Link Fence Gate Installed (9 Guage)									
Supplier	Unit Price	e Qty/Unit Total Price Attch.							
Rudy Construction Co.	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,500.00	4 / each	\$6,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-65 Base Bid: Fencing - 6 foot Galvanized Chain Link Fence Installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-66 Base Bid: Fencing - 6 Foot Ornamental Iron Fence Gate Installed									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,300.00	4 / each	\$5,200.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$12,500.00	4 / each	\$50,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-67 Base Bid: Fencing - 6 Foot Ornamental Iron Fence Installed									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$75.00	100 / linear foot	\$7,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$175.00	100 / linear foot	\$17,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-68 Base Bid: Fencing - 6 foot Black PVC Vinyl Coated Chain Link Fence Gate Installed (9 Guag									
Supplier	Unit Price	e Qty/Unit Total Price Attch.							
Rudy Construction Co.	First Offer - \$1,400.00	4 / each	\$5,600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,200.00	4 / each	\$8,800.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-69 Base Bid: Fencing - 6 foot Black PVC Vinyl Coated Chain Link Fence Installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$95.00	100 / linear foot	\$9,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-70 Base Bid: Fencing - 6 foot Treacrehted Wood Stockade Fence Gate Installed									
Supplier	Unit Price	te Qty/Unit Total Price Attch.							
Rudy Construction Co.	First Offer - \$200.00	4 / each	\$800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,200.00	4 / each	\$4,800.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-71 Base Bid: Fencing - 6 foot Treated Wood Stockade Fence Installed									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-72 Base Bid: Fencing - 9 foot Galvanized Chain Link Fence Gate installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,900.00	4 / each	\$7,600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,800.00	4 / each	\$11,200.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-73 Base Bid: Fencing - 9 foot Galvanized Chain Link Fence installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-74 Base Bid: Fencing - 9 foot Black PVC Vinyl Coated Chain Link Fence Gate Installed (9 Guag									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2,250.00	4 / each	\$9,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$15,000.00	4 / each	\$60,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-75 Base Bid: Fencing - 9 foot Black PVC Vinyl Coated Chain Link Fence Installed (9 Guage)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$80.00	100 / linear foot	\$8,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$175.00	100 / linear foot	\$17,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-76 Base Bid: Fencing - Handrail (Powder Coated Steel) (1 1/2 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$110.00	100 / linear foot	\$11,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$195.00	100 / linear foot	\$19,500.00		Y				
Product Code:		Supplier Product Code:							

Agency Notes: Supplier Notes:

UPP-0001–01-77 Base Bid: Fencing - Handrail (Powder Coated Steel) (3 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$120.00	100 / linear foot	\$12,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$230.00	100 / linear foot	\$23,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-78 Base Bid: Fencing - Handrail Pedestrian option 1 (Powder Coated Steel) (1 1/2 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$110.00	100 / linear foot	\$11,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$205.00	100 / linear foot	\$20,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-79 Base Bid: Fencing - Handrail Pedestrian option 2 (Powder Coated Steel) (1 1/2 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$120.00	100 / linear foot	\$12,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$225.00	100 / linear foot	\$22,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-80 Base Bid: Fencing - Pedestrian Handrail Heavy Duty 1 1/2 Pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$115.00	100 / linear foot	\$11,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$175.00	100 / linear foot	\$17,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-81 Base Bid: Fencing - Pedestrian Handrail Heavy Duty 3 Pipe									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$215.00	100 / linear foot	\$21,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-82 Base Bid: Fencing - Pedestrian Handrail With 1/2 square Pickets									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$125.00	100 / linear foot	\$12,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$235.00	100 / linear foot	\$23,500.00		Υ				

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:

UPP-0001–01-83 Base Bid: Fencing - Post and Cable Barrier									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$35.00	100 / linear foot	\$3,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$85.00	100 / linear foot	\$8,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-84 Base Bid: Furnishing - Metal Grill (Large)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3,000.00	5 / each	\$15,000.00		Υ				
Product Code:	Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5,000.00	5 / each	\$25,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-85 Base Bid: Furnishing - Metal Grill (Small)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2,200.00	5 / each	\$11,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$4,000.00	5 / each	\$20,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-86 Base Bid: Furnishing - Metal Park Bench (6 Foot)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3,600.00	10 / each	\$36,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$4,700.00	10 / each	\$47,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-87 Base Bid: Furnishing - Metal Picnic Table Rectangular ( 8 Foot ADA compliant)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$7,700.00	10 / each	\$77,000.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$9,900.00	10 / each	\$99,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-88 Base Bid: Furnishing - Metal Picnic Table Round (42 Inch Diameter)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$6,200.00	10 / each	\$62,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:	es: Supplier Notes:							

Downey Contracting, L.L.C.	First Offer - \$8,100.00	10 / each	\$81,000.00	Y
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

UPP-0001–01-89 Base Bid: Furnishing Metal Picnic Table Square (4 Foot Square)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5,000.00	10 / each	\$50,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$6,700.00	10 / each	\$67,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-90 Base Bid: Furnishing - Dog Waste Station									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,250.00	20 / each	\$25,000.00		Υ				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,700.00	20 / each	\$54,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-91 Base Bid: Grading - Adjust Manhole To Grade									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$1,250.00	10 / each	\$12,500.00		Y				
Product Code:	ct Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$1,500.00	10 / each	\$15,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-92 Base Bid: Grading - Unclassified Excavation									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$40.00	500 / cubic yard	\$20,000.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$150.00	500 / cubic yard	\$75,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-93 Base Bid: Grading - Unclassified Borrow									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$60.00	500 / cubic yard	\$30,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$170.00	500 / cubic yard	\$85,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-94 Base Bid: Grading - Clearing And Grubbing								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$10.00	500 / square yard	\$5,000.00		Υ			
Product Code:		Supplier Product Code:						

Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$99.00	500 / square yard	\$49,500.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

UPP-0001–01-95 Base Bid: Grading - Provide And Set New Manhole Ring And Cover									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$800.00	10 / each	\$8,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$975.00	10 / each	\$9,750.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-96 Base Bid: Lighting - Musco retrofit									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$136,500.00	5 / each	\$682,500.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$373,000.00	5 / each	\$1,865,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-97 Base Bid: Lighting - Sports Lighting Service Rack Assembly									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$12,000.00	1 / each	\$12,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$75,000.00	1 / each	\$75,000.00		Y				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-98 Base Bid: Lighting - Gridshift Commander Series Solar Light Unit (60W)									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
Rudy Construction Co.	First Offer - \$2,000.00	2 / each	\$4,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$3,700.00	2 / each	\$7,400.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-99 Base Bid: Lighting - Gridshift Siege All-in-One Solar Light Unit (40W)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3,500.00	2 / each	\$7,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$5,700.00	2 / each	\$11,400.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-100 Base Bid: Lighting - Gridshift Halo Pro Solar Light Unit (150W)						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Rudy Construction Co.	First Offer - \$7,000.00	2 / each	\$14,000.00		Υ	
			·			

Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$12,700.00	2 / each	\$25,400.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

UPP-0001–01-101 Base Bid: Lighting - Direct Burry Fiberglass Pole (12' pedestrian height)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$2,500.00	2 / each	\$5,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$4,200.00	2 / each	\$8,400.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-102 Base Bid: Ligthing - Direct Burry Fiberglass Pole (26' parking height)								
Supplier	Unit Price	e Qty/Unit Total Price Attch. De						
Rudy Construction Co.	First Offer - \$4,000.00	2 / each	\$8,000.00		Υ			
Product Code:		<b>Supplier Product Cod</b>	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$7,000.00	2 / each	\$14,000.00		Y			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-103 Base Bid: Lighting- Soccer Field - 120 yard x 80 yard								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$182,000.00	1 / each	\$182,000.00		Y			
Product Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$455,000.00	1 / each	\$455,000.00		Υ			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-104 Base Bid: Lighting- Football Field - 120 yard x 55 yard								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$176,000.00	1 / each	\$176,000.00		Y			
Product Code:	Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$435,000.00	1 / each	\$435,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-105 Base Bid: Lighting-Baseball Field - 275 feet plus centerfield								
Supplier	Unit Price	Unit Price Qty/Unit Total Price Attch. D						
Rudy Construction Co.	First Offer - \$207,000.00	1 / each	\$207,000.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$515,000.00	1 / each	\$515,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-106 Base Bid: Lighting-Softball Field - 260 feet plus centerfield						
Supplier	Unit Price Qty/Unit Total Price Attch. Docs					

Rudy Construction Co.	First Offer - \$175,000.00	1 / each	\$175,000.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$575,000.00	1 / each	\$575,000.00	Υ
Product Code:		Supplier Product Cod	e:	
Agency Notes:		Supplier Notes:		

UPP-0001–01-107 Base Bid: Lighting- Sport Court								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$53,000.00	2 / each	\$106,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$107,000.00	2 / each	\$214,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-108 Base Bid: Paving - Traffic Stripe (8 Inch Wide)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$5.00	500 / linear foot	\$2,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$7.00	500 / linear foot	\$3,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-109 Base Bid: Paving - 10 Inch P.C. Conc. Driveway (3000 Psi Hes)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$135.00	200 / square yard	\$27,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$147.00	200 / square yard	\$29,400.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-110 Base Bid: Paving - 12 Inch Mow Strip									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-111 Base Bid: Paving - 5 Inch Reinforced Concrete									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$115.00	100 / square yard	\$11,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$130.00	100 / square yard	\$13,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-112 Base Bid: Paving - 5 Inch Reinforced Concrete (Full Depth Integral Color)							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$140.00	100 / square yard	\$14,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$325.00	100 / square yard	\$32,500.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPP-0001–01-113 Base Bid: Paving - 6 Inch P.C. Conc. Driveway (3000 Psi Hes)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$110.00	200 / square yard	\$22,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$125.00	200 / square yard	\$25,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-114 Base Bid: Paving - 8 Inch P.C. Conc. Driveway (3000 Psi Hes)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$120.00	200 / square yard	\$24,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$130.00	200 / square yard	\$26,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-115 Base Bid: Paving - ADA Sidewalk Ramp									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2,000.00	5 / each	\$10,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$3,200.00	5 / each	\$16,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-116 Base Bid: Paving - Asphalt Crack Repair 0 Inch To 3/4 Inch									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$4.00	2000 / linear foot	\$8,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$6.00	2000 / linear foot	\$12,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-117 Base Bid: Paving - Cleaning And Sealing P.C. Concrete Cracreks									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-118 Base Bid: Paving - Cleaning And Sealing P.C. Concrete Joints									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$7.00	1000 / linear foot	\$7,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-119 Base Bid: Paving - Cold Milling (Asph. Up To 4 Inches)(Fine Mill)(0 square yard To 2000 sq									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3.00	1999 / square yard	\$5,997.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$39.00	1999 / square yard	\$77,961.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-120 Base Bid: Paving - Cold Milling (Asph. Up To 4 Inches)(Fine Mill)(More Than 2000 square ya									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2.15	23645 / square yard	\$50,836.75		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$41.00	23645 / square yard	\$969,445.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							

UPP-0001–01-121 Base Bid: Paving - Cold Milling (Pc Conc Up To 2 Inches)(Fine Mill)(More Than 2000 square									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$2.15	23645 / square yard	\$50,836.75		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$35.00	23645 / square yard	\$827,575.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							

UPP-0001–01-122 Base Bid: Paving - Cold Milling (Pc Conc. Up To 2 Inches)(Fine Mill)(0 square yard To 2000									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3.00	1999 / square yard	\$5,997.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$45.00	1999 / square yard	\$89,955.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes: Supplier Notes:									

UPP-0001–01-123 Base Bid: Paving - Concrete (Flowable Fill)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$350.00	10 / cubic yard	\$3,500.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$375.00	10 / cubic yard	\$3,750.00		Υ					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								

UPP-0001–01-124 Base Bid: Paving - Reinforcing Steel									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5.00	500 / pound	\$2,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$7.00	500 / pound	\$3,500.00		Y				
Product Code:		Supplier Product Code	::						
Agency Notes:		Supplier Notes:							

UPP-0001–01-125 Base Bid: Paving - Concrete Steps 6 Foot Wide										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$250.00	100 / linear foot	\$25,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$2,700.00	100 / linear foot	\$270,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-126 Base Bid: Paving - Diamond Grinding P.C. Conc.										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$1.25	22500 / square foot	\$28,125.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$2.50	22500 / square foot	\$56,250.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-127 Base Bid: Paving - Geotextile Separator Fabric For Bases									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$4.00	2500 / square yard	\$10,000.00		Υ			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
Downey Contracting, L.L.C.		First Offer - \$5.00	2500 / square yard	\$12,500.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

UPP-0001–01-128 Base Bid: Paving - Haul Out Milled Pavement									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5.00	300 / square yard	\$1,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$392.00	300 / square yard	\$117,600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-129 Base Bid: Paving - Curb and Gutter (Barrier)(6 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$38.00	2000 / linear foot	\$76,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$45.00	2000 / linear foot	\$90,000.00		Y				
Product Code:		Supplier Product Code:							

Agency Notes: Supplier Notes:

UPP-0001–01-130 Base Bid: Paving - Curb and Gutter (Barrier)(10 Inches)									
Supplier	Unit Pric	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$45.00	2000 / linear foot	\$90,000.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$50.00	2000 / linear foot	\$100,000.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							

UPP-0001–01-131 Base Bid: Paving - Integral Curb (Barrier)(6 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$12.00	2000 / linear foot	\$24,000.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$35.00	2000 / linear foot	\$70,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-132 Base Bid: Paving - Integral Curb (Barrier)(8 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$15.00	2000 / linear foot	\$30,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$43.00	2000 / linear foot	\$86,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-133 Base Bid: Paving - Integral Curb For Sidewalk (6 Inches To 12 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$30.00	200 / linear foot	\$6,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$39.00	200 / linear foot	\$7,800.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-134 Base Bid: Paving - Pavement Repair (10 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$55.00	4000 / square yard	\$220,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$205.00	4000 / square yard	\$820,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-135 Base Bid: Paving - Pavement Repair (12 Inches)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$65.00	4000 / square yard	\$260,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$225.00	4000 / square yard	\$900,000.00		Y				

Product Code:
Agency Notes:
Supplier Product Code:
Supplier Notes:

UPP-0001–01-136 Base Bid: Paving - Pavement Repair (8 Inches)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$50.00	4000 / square yard	\$200,000.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$185.00	4000 / square yard	\$740,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-137 Base Bid: Paving - Reinforcement Grid For Bases										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$4.00	2500 / square yard	\$10,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$45.00	2500 / square yard	\$112,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-138 Base Bid: Paving - Remove Traffic Marking (4 Inch Wide Stripe)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5.50	1000 / linear foot	\$5,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-139 Base Bid: Paving - Sawcut Pavement (0 To 6 Inches)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$5.00	1000 / linear foot	\$5,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-140 Base Bid: Paving - Seal & Restriping Lot									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.		First Offer - \$2.00	4000 / square foot	\$8,000.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Downey Contracting, L.L.C.		First Offer - \$2.70	4000 / square foot	\$10,800.00		Y			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

UPP-0001–01-141 Base Bid: Paving - Superpave Delivery Surcharge (One Way)(Over 5 Miles)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$0.20	40000 / ton mile	\$8,000.00		Υ				
Product Code:		Supplier Product Code:							
		Supplier Notes:							

Downey Contracting, L.L.C.	First Offer - \$6.75	40000 / ton mile	\$270,000.00	Υ
Product Code:		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

UPP-0001–01-142 Base Bid: Paving - Aggregate Base (Type A)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$100.00	500 / cubic yard	\$50,000.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$100.00	500 / cubic yard	\$50,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-143 Base Bid: Paving - P C CONC PVMT (6 INCH)(Dowel Jointed) (4000 PSI HES 500 square yard and								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$90.00	500 / square yard	\$45,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$125.00	500 / square yard	\$62,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-144 Base Bid: Paving - P C CONC PVMT (8 INCH)(Dowel Jointed) (4000 PSI HES 500 square yard an								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$105.00	500 / square yard	\$52,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$130.00	500 / square yard	\$65,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-145 Base Bid: Paving - Tack Coat (Css1H Or Cbc1H)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3.00	10000 / gallon	\$30,000.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5.00	10000 / gallon	\$50,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-146 Base Bid: Paving - Traffic Stripe (12 Inch Wide)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$5.00	500 / linear foot	\$2,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$8.00	500 / linear foot	\$4,000.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

l. D		UPP-0001–01-147 Base Bid: Paving - Traffic Stripe (24 Inch Wide)								
h. Docs	Attch.	Total Price	Qty/Unit	Unit Price	Supplier					
Y		\$14,400.00	800 / linear foot	First Offer - \$18.00	Rudy Construction Co.					
			Supplier Product Code:		Product Code:					
			Supplier Product Code:		Product Code:					

Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$20.00	800 / linear foot	\$16,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPP-0001–01-148 Base Bid: Paving - Traffic Stripe (4 Inch Wide)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5.00	500 / linear foot	\$2,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5.40	500 / linear foot	\$2,700.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-149 Base Bid: Paving - Traffic Stripe (Arrows) (Single)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$88.00	10 / each	\$880.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$100.00	10 / each	\$1,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-150 Base Bid: Paving - Traffic Stripe (Plastic) (6 Inch Wide)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$5.00	500 / linear foot	\$2,500.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$5.40	500 / linear foot	\$2,700.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-151 Base Bid: Paving - Traffic Stripe (Plastic) (Symbols) (Sharrow)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,500.00	10 / each	\$15,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,755.00	10 / each	\$17,550.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-152 Base Bid: Paving - Truncated Tactile Dome Warning									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$45.00	200 / square foot	\$9,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$53.00	200 / square foot	\$10,600.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-153 Base Bid: Paving - Traffic Control (4 Lane Mile Section)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ			

Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$27,489.00	1 / lump sum	\$27,489.00	Υ
Product Code:		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		

UPP-0001–01-154 Base Bid: Paving - Traffic Control (2 Lane Mile Section)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$12,500.00	1 / lump sum	\$12,500.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$18,472.00	1 / lump sum	\$18,472.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-155 Base Bid: Paving - Traffic Control (Signalized Intersection)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$1,000.00	1 / each	\$1,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$150,000.00	1 / each	\$150,000.00		Y			
Product Code:		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-156 Base Bid: Paving - Traffic Control (Changeable Message Signs)								
Supplier	Unit Price	te Qty/Unit Total Price Attch. Do						
Downey Contracting, L.L.C.	First Offer - \$1,300.00	1 / day	\$1,300.00		Υ			
Product Code:	ct Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$2,000.00	1 / day	\$2,000.00		Υ			
Product Code:		Supplier Product Cod	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-157 Base Bid: Paving - Install and Remove Project Sign								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$750.00	4 / each	\$3,000.00		Y			
Product Code:	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$750.00	4 / each	\$3,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-158 Base Bid: Playground - Installation of Owner Furnished (LSI) Playground Equipment								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$500.00	100 / hour	\$50,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$750.00	100 / hour	\$75,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-159 Base Bid: Playground - Installation of Owner Furnished (Gametime) Playground Equipment						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Rudy Construction Co.	First Offer - \$300.00	100 / hour	\$30,000.00	Υ		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$750.00	100 / hour	\$75,000.00	Υ		
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

UPP-0001–01-160 Base Bid: Playground - Installation of Owner Furnished (Little Tikes) Playground Equipment								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$500.00	100 / hour	\$50,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$750.00	100 / hour	\$75,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-161 Base Bid: Playground - Drainage 4 inch perforated pipe (subsurface)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$30.00	100 / linear foot	\$3,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-162 Base Bid: Playground - Retainer Curb (Min 12 Inch Depth)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$37.00	100 / linear foot	\$3,700.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Rudy Construction Co.	First Offer - \$40.00	100 / linear foot	\$4,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-163 Base Bid: Playground - Rules Sign									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$2,500.00	2 / each	\$5,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$3,500.00	2 / each	\$7,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-164 Base Bid: Playground - Safety Surface w/ Concrete Base - Artificial Turf										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$20.00	4500 / square foot	\$90,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$51.00	4500 / square foot	\$229,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-165 Base Bid: Retaining Wall - Cast-in-Place (3 Foot Max Height)									

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$175.00	50 / linear foot	\$8,750.00		Υ
Product Code:	Supplier Product Code:				
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$720.00	50 / linear foot	\$36,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPP-0001–01-166 Base Bid: Retaining Wall - Cast-in-Place(3-10 Foot High)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$350.00	50 / linear foot	\$17,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$1,250.00	50 / linear foot	\$62,500.00		Y					
Product Code:		Supplier Product Code:	•							
Agency Notes:		Supplier Notes:								

UPP-0001–01-167 Base Bid: Site Protection - Construction Fence										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$13.51	100 / linear foot	\$1,351.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-168 Base Bid: Site Protection - Erosion Control Blanket (Permanent Turf Reinforcement)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.		First Offer - \$12.00	100 / square yard	\$1,200.00		Υ			
Product Code:		Supplier Product Code:							
Agency Notes:			Supplier Notes:						
Rudy Construction Co.		First Offer - \$20.00	100 / square yard	\$2,000.00		Υ			
Product Code:			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

UPP-0001–01-169 Base Bid: Site Protection - Erosion Control Blanket (Temporary)										
Supplier	Unit F	Price Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$	5.00 100 / square yard	\$500.00		Y					
Product Code:	Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$20	0.00   100 / square yard	\$2,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-170 Base Bid: Site Protection - Inlet Protection										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$200.00	20 / each	\$4,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$270.00	20 / each	\$5,400.00		Y					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-171 Base Bid: Site Protection - Silt Fence										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$5.00	100 / linear foot	\$500.00		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$10.00	100 / linear foot	\$1,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-172 Base Bid: Site Protection - Straw Waddle										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$5.00	50 / linear foot	\$250.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$15.00	50 / linear foot	\$750.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-173 Base Bid: Site Protection - Tree Protection										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$11.00	100 / linear foot	\$1,100.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$15.00	100 / linear foot	\$1,500.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-174 Base Bid: Site Protection - Triangular Silt Dike										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$10.00	50 / linear foot	\$500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$20.00	50 / linear foot	\$1,000.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-175 Base Bid: Structure - Shade 12x12 Metal Roof									
Supplier	Unit Price	te Qty/Unit Total Price Attch. Do							
Rudy Construction Co.	First Offer - \$28,000.00	1 / each	\$28,000.00		Y				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$39,000.00	1 / each	\$39,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-176 Base Bid: Structure - Shade 16x24 Metal Roof									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$71,500.00	1 / each	\$71,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$91,000.00	1 / each	\$91,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-177 Base Bid: Structure - Shade 30x44 Metal Roof									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$100,000.00	1 / each	\$100,000.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$158,000.00	1 / each	\$158,000.00		Υ				
Product Code:		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-178 Base Bid: Structure - Structural Concrete									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,000.00	10 / cubic yard	\$10,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5,000.00	10 / cubic yard	\$50,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-179 Base Bid: Tree - Large Shade 2 Inch Caliper									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$700.00	5 / each	\$3,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$725.00	5 / each	\$3,625.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-180 Base Bid: Tree - Large Shade 3 Inch Caliper									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$950.00	5 / each	\$4,750.00		Y				
Product Code:	duct Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$1,000.00	5 / each	\$5,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-181 Base Bid: Tree - Ornamental 3 Inch Caliper									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1,000.00	5 / each	\$5,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,000.00	5 / each	\$5,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-182 Base Bid: Tree - Ornamental Clump Form 10-12 High									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$700.00	5 / each	\$3,500.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,000.00	5 / each	\$5,000.00		Y				
Product Code:		Supplier Product Cod	e:						

Agency Notes: Supplier Notes:

UPP-0001–01-183 Base Bid: Tree - Small Shade 2" Caliper									
Supplier	Unit Price	e Qty/Unit Total Price Attch. Doc							
Rudy Construction Co.	First Offer - \$700.00	5 / each	\$3,500.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$900.00	5 / each	\$4,500.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-184 Base Bid: Tree - Small Shade Clump Form 10-12 High									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$700.00	5 / each	\$3,500.00		Y				
Product Code:	oduct Code: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$780.00	5 / each	\$3,900.00		Υ				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-185 Base Bid: Tree - Root Barrier									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$24.00	100 / linear foot	\$2,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$25.00	100 / linear foot	\$2,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-186 Base Bid: Turf - Hydro Mulch Seed (Bermuda)									
Supplier	Unit Price	ce Qty/Unit Total Price Attch. D							
Rudy Construction Co.	First Offer - \$8,000.00	1 / acre	\$8,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$11,000.00	1 / acre	\$11,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-187 Base Bid: Turf - Hydro Mulch Seed (Buffalograss)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$12,000.00	1 / acre	\$12,000.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$15,000.00	1 / acre	\$15,000.00		Υ					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-188 Base Bid: Turf - Seed (Annual Ryegrass)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$4,000.00	1 / acre	\$4,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$7,500.00	1 / acre	\$7,500.00		Y				

Product Code:
Agency Notes:

Supplier Product Code:
Supplier Notes:

UPP-0001–01-189 Base Bid: Turf - Seed (Common Bermuda)									
Supplier	Unit Price	Unit Price Qty/Unit Total Price							
Rudy Construction Co.	First Offer - \$5,000.00	1 / acre	\$5,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$11,000.00	1 / acre	\$11,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-190 Base Bid: Turf - Seed (Buffalograss)										
Supplier	Unit Price	Unit Price Qty/Unit Total Price								
Rudy Construction Co.	First Offer - \$8,500.00	1 / acre	\$8,500.00		Y					
Product Code: Supplier Product Code:										
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$12,000.00	1 / acre	\$12,000.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-191 Base Bid: Turf - Seed (Cody Buffalograss)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$8,500.00	1 / acre	\$8,500.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$12,000.00	1 / acre	\$12,000.00		Y					
Product Code:		Supplier Product Cod	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-192 Base Bid: Turf - Solid Slab Sod (Buffalograss)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$1.49	43560 / square foot	\$64,904.40		Υ					
Product Code:	Supplier Product Code:									
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$2.05	43560 / square foot	\$89,298.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-193 Base Bid: Turf - Solid Slab Sod (Cody Buffalograss)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$1.55	43560 / square foot	\$67,518.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$2.05	43560 / square foot	\$89,298.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-194 Base Bid: Turf - Solid Slab Sod (Common Bermuda)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$0.57	43560 / square foot	\$24,829.20		Υ				
Product Code:		Supplier Product Code:							
		Supplier Notes:							

Rudy Construction Co.	Ш	First Offer - \$0.60	43560 / square foot	\$26,136.00	Y
Product Code:			Supplier Product Code:		
Agency Notes:			Supplier Notes:		

UPP-0001–01-195 Base Bid: Turf - Solid Slab Sod (Tahoma 36 Bermuda)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$1.25	43560 / square foot	\$54,450.00		Υ				
Product Code:		Supplier Product Code: Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1.69	43560 / square foot	\$73,616.40		Υ				
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

UPP-0001–01-196 Base Bid: Turf - Solid Sod (U3 Bermuda)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Downey Contracting, L.L.C.	First Offer - \$0.57	43560 / square foot	\$24,829.20		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Rudy Construction Co.	First Offer - \$0.60	43560 / square foot	\$26,136.00		Y					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-197 Base Bid: Irrigation - Control Wire (2-wire)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$2.50	200 / linear foot	\$500.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$10.81	200 / linear foot	\$2,162.00		Υ					
Product Code:		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

UPP-0001–01-198 Base Bid: Irrigation - Controller									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3,300.00	4 / each	\$13,200.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$10,500.00	4 / each	\$42,000.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-199 Base Bid: Irrigation - Remove and Reset Irrigation Pipe (PVC - 1/2 inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$3.00	200 / linear foot	\$600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$9.00	200 / linear foot	\$1,800.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-200 Base Bid: Irrigation - Remove and Reset Irrigation Pipe (PVC - 3/4 inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3.00	200 / linear foot	\$600.00		Υ			
Product Code:  Supplier Product Code:								

Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.		First Offer - \$12.00	200 / linear foot	\$2,400.00		Υ
Product Code:			Supplier Product Code:			
Agency Notes:			Supplier Notes:			

UPP-0001–01-201 Base Bid: Irrigation - Remove and Reset Irrigation Pipe (PVC - 1 inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$4.00	200 / linear foot	\$800.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$20.00	200 / linear foot	\$4,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-202 Base Bid: Irrigation - Remove and Reset Irrigation Pipe (PVC - 1 inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$6.00	200 / linear foot	\$1,200.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$28.00	200 / linear foot	\$5,600.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-203 Base Bid: Irrigation - Remove and Reset Irrigation Pipe (PVC - 2 inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$10.00	200 / linear foot	\$2,000.00		Υ				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$38.00	200 / linear foot	\$7,600.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-204 Base Bid: Irrigation - Remove and Reset Irrigation Pipe (PVC - 3 inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$11.00	200 / linear foot	\$2,200.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$88.00	200 / linear foot	\$17,600.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-205 Base Bid: Irrigation - Remove and Reset Turf Irrigation Head									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$40.00	20 / each	\$800.00		Y				
Product Code:	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$405.00	20 / each	\$8,100.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-206 Base Bid: Irrigation - Remove and Reset Turf Irrigation Head									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$40.00	20 / each	\$800.00		Υ				

Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$405.00	20 / each	\$8,100.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

UPP-0001–01-207 Base Bid: Irrigation - Remove and Reset Bed Irrigation Head									
Supplier	Unit Price	Qty/Unit Total Price Attch.							
Rudy Construction Co.	First Offer - \$70.00	20 / each	\$1,400.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$270.00	20 / each	\$5,400.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-208 Base Bid: Irrigation - Labor Troubleshoot								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$125.00	8 / hour	\$1,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$150.00	8/hour	\$1,200.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-209 Base Bid: Irrigation - New Turf Rotor Small								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$50.00	20 / each	\$1,000.00		Υ			
Product Code: Supplier Product Code:		e:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$500.00	20 / each	\$10,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-210 Base Bid: Irrigation - New Turf Rotor Large								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$150.00	20 / each	\$3,000.00		Y			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$600.00	20 / each	\$12,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-211 Base Bid: Irrigation - New Spray Head								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$50.00	20 / each	\$1,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$200.00	20 / each	\$4,000.00		Υ			
Product Code:		Supplier Product Code	e:					
Agency Notes:		Supplier Notes:						

UPP-0001–01-212 Base Bid: Irrigation - New Rotary Head						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	

Rudy Construction Co.	First Offer - \$65.00	20 / each	\$1,300.00	Y		
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Downey Contracting, L.L.C.	First Offer - \$337.00	20 / each	\$6,740.00	Y		
Product Code:		Supplier Product Code	e:			
Agency Notes:		Supplier Notes:				

UPP-0001–01-213 Base Bid: Irrigation - New Irrigation pipe (PVC - 1/2 Inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3.00	200 / linear foot	\$600.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$9.00	200 / linear foot	\$1,800.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-214 Base Bid: Irrigation - New Irrigation pipe (PVC - 3/4 Inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$3.00	200 / linear foot	\$600.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$12.00	200 / linear foot	\$2,400.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-215 Base Bid: Irrigation - New Irrigation pipe (PVC - 1 Inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$4.00	200 / linear foot	\$800.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$20.00	200 / linear foot	\$4,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-216 Base Bid: Irrigation - New Irrigation pipe (PVC - 2 Inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$6.00	200 / linear foot	\$1,200.00		Y			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$39.00	200 / linear foot	\$7,800.00		Y			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						

UPP-0001–01-217 Base Bid: Irrigation - New Irrigation pipe (PVC - 3 Inch)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Rudy Construction Co.	First Offer - \$10.00	200 / linear foot	\$2,000.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$87.00	200 / linear foot	\$17,400.00		Υ			
Product Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

UPP-0001–01-218 Base Bid: Irrigation - New Irrigation pipe (PVC - 4 Inch)						

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Rudy Construction Co.	First Offer - \$11.00	200 / linear foot	\$2,200.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$102.00	200 / linear foot	\$20,400.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

UPP-0001–01-219 Base Bid: Water - Meter Box (Traffic Type)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$400.00	5 / each	\$2,000.00		Υ				
Product Code:	ode: Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,900.00	5 / each	\$9,500.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-220 Base Bid: Water - Meter Relocation (1 Inch)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$1,500.00	1 / each	\$1,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$2,000.00	1 / each	\$2,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-221 Base Bid: Water - Relocate Fire Hydrant									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$7,500.00	1 / each	\$7,500.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$12,500.00	1 / each	\$12,500.00		Υ				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-222 Base Bid: Water - Valve Box									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$400.00	20 / each	\$8,000.00		Y				
Product Code:	oduct Code:		Supplier Product Code:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$900.00	20 / each	\$18,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-223 Base Bid: Water - Valve Box Adjust To Grade									
Supplier	Unit Price	Qty/Unit Total Price Attch. D							
Rudy Construction Co.	First Offer - \$300.00	20 / each	\$6,000.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$850.00	20 / each	\$17,000.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-224 Base Bid: Water - Water Meter Adjust To Grade									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$550.00	5 / each	\$2,750.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$850.00	5 / each	\$4,250.00		Y				
Product Code:		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-225 Base Bid: Water - Water Meter Box Adjust To Grade										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Rudy Construction Co.	First Offer - \$300.00	5 / each	\$1,500.00		Υ					
Product Code:	duct Code: Suppl		Supplier Product Code:							
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$850.00	5 / each	\$4,250.00		Υ					
Product Code:		Supplier Product Code	e:							
Agency Notes:		Supplier Notes:								

UPP-0001–01-226 Base Bid: Water - Drinking Fountain (Willoughby auto-flushing)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5,000.00	5 / each	\$25,000.00		Υ				
Product Code: Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$11,481.00	5 / each	\$57,405.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-227 Base Bid: Water - Domestic Water Meter 5/8 inch									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$5,500.00	3 / each	\$16,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$5,500.00	3 / each	\$16,500.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-228 Base Bid: Water - Domestic Water Meter 2 inch									
Supplier	Unit Price	e Qty/Unit Total Price Attch. D							
Downey Contracting, L.L.C.	First Offer - \$9,500.00	3 / each	\$28,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Rudy Construction Co.	First Offer - \$15,000.00	3 / each	\$45,000.00		Y				
Product Code:		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

UPP-0001–01-229 Base Bid: Water - Domestic Water Supply 3/4 - inch									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Rudy Construction Co.	First Offer - \$45.00	100 / linear foot	\$4,500.00		Υ				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$65.00	100 / linear foot	\$6,500.00		Y				
Product Code:		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

UPP-0001–01-230 Base Bid: Sewer- Sanitary sewer service line 4 - inch							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Rudy Construction Co.	First Offer - \$90.00	100 / linear foot	\$9,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$190.00	100 / linear foot	\$19,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

UPP-0001–01-231 Base Bid: Sewer - Sewer Tap							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$2,200.00	2 / each	\$4,400.00		Υ		
Product Code: Supplier Product Code:							
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$12,500.00	2 / each	\$25,000.00		Y		
Product Code:		Supplier Product Cod	e:				
Agency Notes:		Supplier Notes:					

UPP-0001–01-232 Base Bid: Sewer - Sewer Lateral Line (4 - inch perforated)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$75.00	100 / linear foot	\$7,500.00		Υ		
Product Code:	Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Rudy Construction Co.	First Offer - \$90.00	100 / linear foot	\$9,000.00	Υ	Y		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

#### **Supplier Totals**

f Rudy Consti	ruction Co.	\$5,567,110.50 (232/232 items)	ı
Bid Contact	Doug Walker kratliff@rudycc.com Ph 405-478-9900 Fax 405-478-9901	Address 3101 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:
f Downey Coi	ntracting, L.L.C.	\$15,357,117.20 (232/232 items)	
Bid Contact	Sheila Stovall rmorris@downeycontracting.com Ph 405-478-5277	Address <b>3217 NE 63rd Street Oklahoma City, OK 73121</b>	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:

<sup>\*\*</sup>All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws,

bid #UPP-0001 - Parks Improvements Line Item

#### City of Oklahoma City and its Trusts

purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.